B B T B LRI /N X 18R b5 7 T T AR AR

2, W 14 RG-S 725020001

)55 J3 R T MR TR LA BERIEE AR . ARG RR LATE . Ab3RAE CARS

PERNBREFEN | E T ARG M T R TR A

=5 FREER | BERE | BRI | A% | a%mR | 2HEHR
-201 -2f NBi 336.240 ]0.032313 | 10.870 347. 11
01 -1B T H [|] 8.840 [0.765790 | 6.770 15. 61
02 -1)2 T H.[H] 6.880 [0.765790 | 5.270 12. 15
03 -1 T H [a] 5.010 [0.765790 | 3.840 8.85
04 -1=2 T H[H 8.530 |0.765790 | 6.530 15. 06
05 -12 T H & 9.960 |0.765790 | 7.630 17.59
06 -18 THfa] 8.490 [0.765790 | 6.500 14. 99
07 -1 T EL ] 7.170  [0.765790 | 5.490 12. 66
08 ~1 B T H[a] 6.240 |0.765790 | 4.780 11.02
09 -12 T H A 6.690 [0.765790 | 5.120 11.81
10 -1 TR ] 6.690 |0.765790 | 5.120 11. 81
11 -1 T HL[8] 6.240 |0.765790 | 4. 780 11.02
12 -12 T R[] 7.170  [0.765790 | 5.490 12. 66
13 -12 THIA 8.490 |0.765790 | 6.500 14. 99
14 -12 T Ha] 9.960 |0.765790 | 7.630 17. 59
15 -1 T H 8] 5.860 |0.765790 | 4.490 10. 35
16 -12 T FLfa] 5.490 |0.765790 | 4.200 9. 69
17 -1)2 T H.[4] 4.840 [0.765790 | 3.710 8.55
18 1 Bt A [f] 9.420 |0.765790 | 7.210 16. 63
101 (BN g 114.280 |0.159968 | 18.280 132. 56
102 By fre 116.280 [0.159968 | 18. 600 134. 88
201 | 2R FE 114.280 |0.159968 | 18.280 132. 56
202 \ 2B i/ | 114.280 [0.159968 | 18.280 132. 56
301 MR\ T4 114.280 |0.159968 | 18.280 132. 56
302 3E = 114.280 |[0.159968 | 18.280 132. 56
401 4)5: T 114.280 [0.159968 | 18. 280 132. 56
402 4)z = 114. 280 [0. 159968 | 18. 280 132. 56
501 5% Ek 114. 280 [0. 159968 | 18. 280 132. 56
502 5% e 114.280 |0.159968 | 18.280 132. 56




601 6/ B 114.280 [0.159968 | 18.280 132. 56
602 6/ et 114.280 |0.159968 | 18.280 132. 56
701 Ui (i 114. 280 |[0.159968 | 18.280 132. 56
702 {4 i 114. 280 |0.159968 | 18.280 132. 56
801 8JZ FE 114.280 |[0.159968 | 18.280 132. 56
802 8= et 114.280 [0.159968 | 18.280 132. 56
901 9) s 114.280 [0.159968 | 18. 280 132. 56
902 97 e 114.280 |0.159968 | 18.280 182. 56
1001 T 114.280 |0.159968 | 18.280 132. 56
1002 ﬁm}%‘ 7RG 114.280 |0.159968 | 18.280 132. 56
1101 /112 et 114.280 |0.159968 | 18.280 132. 56
o2 Yoo FE 114.280 [0.159968 | 18.280 132. 56
it W S 2984. 370 514. 410 3498. 78
Mgz - il NI % M GEIf




BEENEZEYEN/NX 34 E - W mRE

4..’1]:

WS . 3% %S 225020002

i J2 e AR T ARR BT LAAL . 3R R CAZS . AURIDGHIBE CAPE . Abdker LAre
PEAABZEAEN | BE AR TR TR A F

5 FREEER | BRERE | BRER | o8R8 | 28mHR | @EmR
2-01 -2F it i H] 8.840 [0.551922 | 4.880 13.72
2-02 -2 ik L[] 6.880 [0.551922 | 3.800 10. 68
2-03 -212 fis i ) 5.520 |0.551922 | 3.050 8.57
2-04 -2 i ek [11] 5.790 10.551922 | 3.200 8. 99
2-05 -2 fit R [5] 9.020 |0.551922 | 4.980 14. 00
2-06 -2 it R 5] 8.530 [0.551922 | 4.710 13. 24
2-07 -2 it [ 1] 9.960 [0.551922 | 5.500 15. 46
2-08 -2 i 7% 1) 8.490 |0.551922 | 4.690 13.18
2-09 2B fih 7 7] 7.170  |0.551922 | 3. 960 11,13
2-10 2B ik ik 7] 8.090 |0.551922 | 4.470 12. 56
11 -2 ik [7] 6. 500 0. 551922 3. 590 10. 09
=13 -2 itk 1] 6.980 [0.551922 | 3.850 10. 83
2-13 -2J2 fidt e 6] 14.070 |0.551922 | 7.770 21.84
2-14 -2 fits 7R ] 9.960 |0.551922 | 5.500 15. 46
2-15 -2 it R 1] 9.690 |0.551922 | 5.350 15. 04
2-16 -2)2 i K 7] 9.690 |0.551922 | 5.350 15. 04
2-17 -2 fifk 7K 1) 9.960 |0.551922 | 5.500 15. 46
2-18 22 A7 I 6.210 |0.551922 | 3.430 9. 64
2-19 Y 7.800 |0.551922 | 4.300 12. 10
2-20 -l 1 8.090 |0.551922 | 4.470 12. 56
2-21 i ik 7B ) 7.170  10.551922 | 3.960 11,13
2-22 2% . {#iEE " ) 6.500 |0.551922 | 3.590 10. 09
2-23 -2 it iR 1) 8.490 |0.551922 | 4.690 13. 18
2-24 2B i g |1 9.960 [0.551922 | 5.500 15. 46
2-25 -2 ik ek [6] 8.530 |0.551922 | 4.710 13. 24
2-26 2B fids e 1] 8.840 [0.551922 | 4.880 13. 72
2-217 -2 fik 78 7] 6.880 |0.551922 | 3.800 10. 68
2-28 -2 ik i 1] 5.520 10.551922 | 3.050 8. 57
2-29 -2 fik g ) 5.790 |0.551922 | 3.200 8.99




2-30 -2 i i 1) 9.020 [0.551922 | 4.980 14. 00
2-31 -2 fitg ik [ 6.980 [0.551922 | 3.850 10. 83
3-01 -2 E 25.550 |0.551922 | 14.100 39. 65
3-02 22 FIE 29.920 |0.551922 | 16.510 46. 43
3-03 22 7 29.920 |0.551922 | 16.510 46. 43
3-04 -2/ R 25.550 |0.551922 | 14.100 39. 65
1-01 -12 i 5[] 8.840 [0.551922 | 4.880 14. 72
1-02 -1 fits ) 6.880 |0.551922 | 3.800 10. 68
1-03 -1 i ik ] 5.520 |0.551922 | 3.050 8.57
1-04 -12 fie R ] 5.790 |0.551922 | 3.200 8.99
1-05 -12 ik 1] 8.440 |0.551922 | 4.660 13. 10
1-06 -18 i ek ] 9.960 |[0.551922 | 5.500 15. 46
1-07 -12 i 5K 8] 8.490 [0.551922 | 4.690 13. 18
1-08 -1Z ik 1) 7.170 |0. 551922 3. 960 11.13
1-09 -1 fi 58 1) 8.090 [0.551922 | 4.470 12. 56
1-10 -12 {161 6.690 10.661922 | 3.69% 10. 38
1-11 -1 i % 1) 6.690 [0.551922 | 3.690 10. 38
1-12 -1E {it ik [ 7.170 |0.551922 | 3.960 1113
1-13 -12 il i ] 8.490 |0.551922 | 4.690 13.18
1-14 -1E ik i 1) 9.960 |0.551922 | 5.500 15. 46
1-15 -1E ik ek ] 8.980 |0.551922 | 4.960 13. 94
1-16 -1 i 78K ] 8.960 |0.551922 | 4.950 13.91
1-17 -1)2 i ek 8] 6.880 |0.551922 | 3.800 10. 68
1-18 -12 {5 ] 7.140  |0.551922 | 3.940 11.08
1-19 -1 AT~ | 9.420 [0.551922 | 5.200 14. 62
1-20 -12 /T_’?'-‘ﬁ??ﬁlﬁj 8.960 [0.551922 | 4.950 13.91
1-21 -1 | ke 6.880 |0.551922 | 3.800 10. 68
1-22 -1)2 itk 7] 5.010 [0.551922 | 2.770 7.78
1=23 -1B ik 5] “§.980 [0.551922 | 4.960 13. 94
1-24 U2 [NfE . o} 9.960  [0.551922 | 5.500 15. 46
1-25 -1B fi s ) 8.490 [0.551922 | 4.690 13.18
1-26 -2 fits ek ] 7.170  10.551922 | 3.960 {115
1-27 -12 fi R 5] 6.690 |0.551922 | 3.690 10. 38
1-28 12 fits 8 ) 8.090 |0.551922 | 4.470 12. 56
1-29 -1 it 7R 1] 7.170  10.551922 | 3.960 1) 18
1-30 -12 i 7 1] 6.690 |0.551922 | 3.690 10. 38




1-31 -1 i i 1) 8.490 |0.551922 | 4.690 13.18

1-32 -1 it ek ) 9.960 |0.551922 | 5.500 15. 46

1-33 -1)2 fit ek ] 8.440 |0.551922 | 4.660 13.10

1-34 -12 ik el 7] 8.840 [0.551922 | 4.880 13.72

1-35 -12 fi e 1] 6.880 [0.551922 | 3.800 10. 68

1-36 -1)2 fitt B 6] 5.520 |0.551922 | 3.050 8.57

1-37 -1 il ek 1] 5.790 |0.551922 | 3.200 8.99

1-101 12 = 115.450 [0.165201 | 19.070 134. 52
1-102 1)z ERect 113.450 |0.165201 | 18.740 132.19
2-101 12 = 113.450 |0.165201 | 18.740 132. 19
2-102 1z fF 115.450 |0.165201 | 19.070 134. 52
1-201 2k i 113.450 |0.165201 | 18.740 132.19
1-202 22 % 113.450 |0.165201 | 18.740 132. 19
2-201 27 = 113.450 |0.165201 | 18.740 132. 19
2-202 22 s 113.450 |0.165201 | 18.740 132. 19
1-301 3z = 113.450 |0.165201 | 18.740 132. 19
1-302 3F = 113.450 |0.165201 | 18.740 132.19
2-301 32 et 113.450 |0.165201 | 18.740 132.19
2-302 3 FE 113.450 |0.165201 | 18.740 132. 19
1-401 42 5 113.460 |0.165201 | 18.740 132. 20
1-402 4)7: = 113.460 |[0.165201 | 18.740 132. 20
2-401 4)Z fEg 113.460 |0.165201 | 18.740 132. 20
2-402 41t (Es 113.460 |[0.165201 | 18.740 132. 20
1-501 57 Es 113.460 |0.165201 | 18.740 132. 20
1-502 5/ e 113.460 |[0.165201 | 18.740 132. 20
2-501 595 fF 113.460 0. 165201 | 18.740 132. 20
2-502 5)a % 113.460 |0.165201 | 18.740 132. 20
1-601 6/ Ee 113.460 |0. 165201 | 18.740 132. 20
1-602 ) = I=e 113.460 |0.165201 | 18.740 132. 20
2-601 6/Z fF 113.460 |0.165201 | 18.740 132. 20
2-602 62 A 113.460 |0.165201 | 18.740 132. 20
1-701 = i 113.460 |0.165201 | 18.740 132. 20
1-702 77 5 113.460 |0.165201 | 18.740 132. 20
2-701 (7 2 113.460 |0.165201 | 18.740 132. 20
2-702 = e 113.460 |0.165201 | 18.740 132. 20
1-801 8J= i 113.460 |0.165201 | 18.740 132. 20




1-802 8z Fe 113.460 |0.165201 | 18.740 132. 20
2-801 8)Z 3 113.460 |0.165201 | 18.740 132. 20
2-802 8)z s 113.460 |0.165201 | 18.740 132. 20
1-901 O £ 113.460 |0.165201 | 18.740 132. 20
1-902 92 i 113.460 [0.165201 | 18.740 132. 20
2-901 )= Ec 113.460 |0. 165201 | 18.740 132. 20
2-902 92 F 5 113.460 |0.165201 | 18.740 132. 20
1-1001 102 ¥ 113.460 |0.165201 | 18.740 132. 20
1-1002 102 G 113.460 |0.165201 | 18.740 132. 20
2-1001 102 = 113.460 [0.165201 | 18.740 132. 20
2-1002 102 = 113.460 [0.165201 | 18.740 132. 20
1-1101 11/ (B 113.460 |0.165201 | 18.740 132. 20
1-1102 177 | /. % | 113.460 [0.165201 | 18.740 132. 20
2-1101 Wz~ | B | 13460 o.165201 | 18.740 132. 20
2-1102 ’1'_1'-'%’ fEgs | 113.460 [0.165201 | 18.740 132. 20
it = ~Q - 7 | 5645. 550 - 1183.810 | 6829.36
W2z : il I R W% M B fit




R B T 2R YL AR /N X S B 7 T T AR R

Jin

5. 5# ME LS. 725020003

B R R

BRI B AL . FEREBE LA . IR B B UATE . LI LA

PRARZIEN  |WME i AT RA R A A

£S5 FiERw | RRAE | BNER | SR | ammER | BRI
2-01 -2} i e 1) 8.270 |0.681792 | 5.640 13.91
2=02 -2/ fik L[] 7.530 |0.681792 | 5.130 12. 66
2-03 2B i ek 1] 7.140 |0.681792 | 4.870 12. 01
2-04 -2 fiff ek ] 11.430 [0.681792 | 7.790 19. 22
2-05 -2 fiti ek [e] 6.520 [0.681792 | 4.450 10. 97
2-06 -2]2 ik [ 6.480 |0.681792 | 4.420 10. 90
2-07 -2 fite 7] 6.480 [0.681792 | 4.420 10. 90
2-08 -22 ik e (1] 6.520 [0.681792 | 4.450 10. 97
2-09 -2 figt K 2] 11.430 |0.681792 | 7.790 19. 22
2-10 -2/ it i 1] 7.890 |0.681792 | 5.380 13,27
2-11 -2)% i K 8] 7.680 |0.681792 | 5.240 12.92
2-12 -2 i 7K ] 8.270  |0.681792 | 5.640 13.91
213 -2 fifk ik ] 7.530 |0.681792 | 5.130 12. 66
2-14 -2 fit ek 7] 7.140 ]0.681792 | 4.870 12.01
5-01 -2 B 19.150 |0.681792 | 13.060 32. 21
5-02 -2 % 23.240 [0.681792 | 15. 840 39. 08
5-03 -2B 7 24.410 |0.681792 | 16.640 41.05
5-04 -2 R 21.080 |0.681792 | 14.370 35. 45
5-05 22 A—dpfF 21.080 |0.681792 | 14.370 35. 45
5-06 o2 Yl 24.410 |0.681792 | 16.640 41. 05
5-07 -2/2 JiE 23.240 |0.681792 | 15.840 39. 08
5-08 22 R 32.250 [0.681792 | 21.990 54. 24
5-09 |/ L 32.250 |0.681792 | 21.990 54. 24
1-01 -1BL {8 ] 8.520 |0.681792 | 5.810 14. 33
1-02 -1 it 7.290 |0.681792 | 4.970 12. 26
1-03 -12 ik 7k 7] 7.140 [0.681792 | 4.870 12. 01
1-04 -1 fié R [51) 7.860 |0.681792 | 5.360 13. 22
1-05 -1E {5k 1) 6.730 |0.681792 | 4.590 11.32
1-06 -1 fiti 1] 8.670 [0.681792 | 5.910 14. 58




1-07 -12 ik 5 1] 8.670 |0.681792 | 5.910 14. 58
1-08 -1 figt ek ] 5.560 |0.681792 | 3.790 9.35
1-09 -1 itk 8] 6.830 |0.681792 | 4.660 11.49
1-10 -12 filh 7k 7] 4.200 |0.681792 | 2.860 7.06
1-11 -12 ik 5 (] 6.520 |0.681792 | 4.450 10. 97
1-12 -1} i ek 1] 6.480 |0.681792 | 4.420 10. 90
1-13 -1 ik R ] 9.100 |0.681792 | 6.200 15. 30
1-14 -1 fit 58 1) 9.100 |0.681792 | 6.200 15. 30
1-15 -1)2 ik 7 1] 6.190 |0.681792 | 4.220 10. 41
1-16 -12 itk 8] 6.500 [0.681792 | 4.430 10.93
1-17 -1= fih e 18] 6.500 |0.681792 | 4.430 10. 93
1-18 -1 iR 7] 6.190 |0.681792 | 4.220 10. 41
1-19 -12 i 5[] 9.100 [0.681792 | 6.200 15. 30
1-20 -1 fih 5K 1] 9.100 |0.681792 | 6.200 15. 30
1-21 -1B i 7 [ 6.480 |0.681792 | 4.420 10. 90
1-22 -1 i ek 1) 6.520 |0.681792 | 4.450 10. 97
1-23 -12 fittER 7] 4,200 [0.681792 | 2.860 7.06
1-24 1B il 56 1) 6.830 [0.681792 | 4.660 11. 49
1-25 -1E fids ek 18] 5.560 [0.681792 | 3.790 9.35
1-26 -1 ik 1A 8.670 |0.681792 | 5.910 14. 58
1-21 -12 {ik ik 7] 8.670 |0.681792 | 5.910 14. 58
1-28 -1)2 fifh K 8] 6.730 |0.681792 | 4.590 11, 32
1-29 -12 itk 7] 7.860 |0.681792 | 5. 360 13,99
1-30 12 A | 8.520 [0.681792 | 5.810 14. 33
1-31 1 sl |\ 7.200  [0.681792 | 4.970 12. 26
1-32 16, fits gl 7.140 |0.681792 | 4.870 12. 01
1-101 1E e 92.440 |[0.274778 | 25.400 117. 84
1-102 1)z i £101. 290 |0.274778 | 27.830 129. 12
2-101 1)z ArE 101. 290 |0. 274778 27. 830 129. 12
2-102 1z fF= 92.440 |0.274778 | 25.400 117. 84
1-201 2J= (Eec 92.440 |0.274778 | 25.400 117. 84
1-202 2z FE 101.290 |0.274778 | 27.830 129. 12
2-201 27 F=2 101.290 |0.274778 | 27.830 129. 12
2-202 2)2 ¥ 92.440 |0.274778 | 25.400 117. 84
1-301 3E 5 92.440 |0.274778 | 25.400 117. 84
1-302 3= £ 101.290 |0.274778 | 27.830 129. 12




2-301 32 ¥ 101.290 |0.274778 | 27.830 129. 12
2-302 3 £ 92.440 |0.274778 | 25.400 117. 84
1-401 47 s 92.440 |0.274778 | 25.400 117. 84
1-402 4z i€ 101.290 |0.274778 | 27.830 129. 12
2-401 4)z ¥ 101.290 |0.274778 | 27.830 129. 12
2-402 4)7 hadt 92.440 |0.274778 | 25.400 117.84
1-501 5% T3 92.440 [0.274778 | 25.400 117.84
1-502 5/ = 101.290 |0.274778 | 27.830 129. 12
2-501 52 et 101.290 |0.274778 | 27.830 129. 12
2-502 5/ s 92.440 [0.274778 | 25.400 117. 84
1-601 6/= = 92.440 |0.274778 | 25.400 117.84
1-602 6= e 101.290 |0.274778 | 27.830 129. 12
2-601 6% (Es 101.290 |0.274778 | 27.830 129. 12
2-602 6)z et 02.440 |0.274778 | 25.400 117. 84
1-701 7= ffe 92.440 |0.274778 | 25.400 117. 84
1-702 &= Fe 101.290 |0.274778 | 27.830 129. 12
2-701 7 T 101.290 |0.274778 | 27.830 129. 12
2-702 = 5 92.440 |0.274778 | 25.400 117. 84
1-801 812 hdeet 92.440 |0.274778 | 25.400 117. 84
1-802 8% Eect 101.290 |0.274778 | 27.830 129. 12
2-801 8Jz £ 101.290 |0.274778 | 27.830 129. 12
2-802 812 = 92.440 |0.274778 | 25.400 117. 84
1-901 92 R 92.440 |0.274778 | 25.400 117. 84
1-902 9z e 101.290 |0.274778 | 27.830 129. 12
2-901 9)z oL 101.290 |0.274778 | 27.830 129. 12
2-902 92 e 92.440 |0.274778 | 25.400 117. 84
1-1001 102 st 92:440 |0.274778 | 25.400 117. 84
1-1002 10)2 i) 101.290 |0.274778 | 27.830 129. 12
2-1001 102 Ar 101.290 |0.274778 | 27.830 129. 12
2-1002 102 & 92.440 |[0.274778 | 25.400 117.84
1-1101 11z Eaeat 92.440 [0.274778 | 25.400 117. 84
1-1102 112 ¥ 101.290 |0.274778 | 27.830 129. 12
2-1101 112 F 101.290 |0.274778 | 27.830 129. 12
2-1102 112 Fe 92.440 |0.274778 | 25.400 117. 84
1-1201 12/ £ 92.440 |0.274778 | 25.400 117. 84
1-1202 12 Ec 101.290 |0.274778 | 27.830 129. 12




2-1201 122 Eaest 101.290 |0.274778 | 27.830 129. 12
2-1202 12)2 e 92.440 |0.274778 | 25.400 117. 84
1-1301 13/ bt 92.440 |0.274778 | 25.400 117. 84
1-1302 13/ i 101.290 |0.274778 | 27.830 129. 12
2-1301 132 Eet 101.290 |0.274778 | 27.830 129. 12
2-1302 13 et 92.440 |0.274778 | 25.400 117. 84
1-1401 142 fFE 92.440 |0.274778 | 25.400 117. 84
1-1402 14)7 i 101.290 |0.274778 | 27.830 129. 12
2-1401 14/2 ke 101.290 |0.274778 | 27.830 129. 12
2-1402 14/2 2 92.440 |0.274778 | 25. 400 117. 84
1-1501 15/ Eaeet 92.440 |0.274778 | 25.400 117. 84
1-1502 15/ = 101.290 |0.274778 | 27.830 129. 12
2-1501 152 = 101.290 |0.274778 | 27.830 129. 12
2-1502 152 st 92. 440 |0.274778 | 25.400 117. 84
1-1601 162 F€ 92.440 |0.274778 | 25.400 117. 84
1-1602 162 e 101.290 |0.274778 | 27.830 129. 12
2-1601 16/Z F 101.290 |0.274778 | 27.830 129. 12
2-1602 16/Z FE 92.440 |0.274778 | 25.400 117. 84
1-1701 172 ¥ 92.440 |0.274778 | 25.400 117. 84
1-1702 172 <Xz 101.290 |[0.274778 | 27.830 129. 12
2-1701 172/} e 7101200 |o.274778 | 27.830 129. 12
2-1702 17TR . f 92.440 |0.274778 | 25. 400 117. 84

&it -\ ef . 7148. 960 - |2193.080 | 9342.04
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B B T YA /N X TR 5 7 TR TH AR AR

E . 74 WSS 225020002
13 J2 ¥ MR TR AL FEREEE LA . MR EA R LATE . JL3RAT LT

FERARBICA | E RS R A RA R
5 FHERR | RREAE | BNER | MR | AWEs | @RI
2-01 -2 itk R ) 8.270 [0.713684 | 5.900 14.17
2-02 -22 fih ek 18] 7.530 |0.713684 | 5.370 12. 90
2-03 -2 fit R ) 7.140 |0.713684 | 5.100 12. 24
2-04 -2 ik R ] 14.620 |0.713684 | 10.430 25. 05
2-05 -2 itk 6] 5.560 |0.713684 | 3.970 9.53
2-06 -2 fih ek [] 6.810 |0.713684 | 4.860 11. 67
2-07 -2 fidk ik 1] 4.300 |0.713684 | 3.070 7.37
2-08 -2 i e ) 6.520 |0.713684 | 4.650 11. 17
2-09 -2 fitg R ] 6.480 |0.713684 | 4.620 11. 10
2-10 -2 it R 1] 6.480 [0.713684 | 4.620 11. 10
2-11 2 {161 6.520 |0.713684 | 4.650 11.17
9=12 -2 itk [e1] 4.300 |0.713684 | 3.070 7.31
2-13 -2 fil ek 1] 6.810 |0.713684 | 4.860 11. 67
2-14 -2 ik ] 5.560 [0.713684 | 3.970 9.53
2-15 -2 ik 7 1] 8.800 |0.713684 | 6.280 15.08
2-16 -2/ fits e 7] 8.380 |0.713684 | 5.980 14. 36
2-17 -2z i K ) 9.100 [0.713684 | 6.490 15. 59
2-18 -2z i K ) 9.100 |0.713684 | 6.490 15. 59
2-19 2B A7 e | 11450 [0.713684 | 8.170 19. 62
2-20 2 1 ki | 11440 0.713684 | 8.160 19. 60
2-21 —2‘);?‘;", : filk ik ) 8.670 |0.713684 | 6.190 14. 86
2-22 S| Ak 8.670 [0.713684 | 6.190 14. 86
2-23 ) Rt 511 7.900 |0.713684 | 5.640 13. 54
2-24 -2 s’ | 7.680  [0.713684 | 5.480 13. 16
2-25 -2 itk [71] 8.270 |0.713684 | 5.900 14. 17
2-26 -2)2 ik oK ) 7.530 |0.713684 | 5.370 12. 90
=41 -2 fili L 1) 7.140  [0.713684 | 5.100 12. 24
7-01 -2 TR 19.150 [0.713684 | 13.670 32. 82
7-02 -2 R 23.240 |0.713684 | 16.590 39. 83




7-03 22 ZEE 24,410 |0.713684 | 17.420 41.83
7-04 -2 L 21.080 |0.713684 | 15.040 36. 12
1-01 -12 ik 8] 8.520 |0.713684 | 6.080 14. 60
1-02 -2 fih 7 1) 7.290 |0.713684 | 5.200 12. 49
1-03 -12 itk 1) 7.140 [0.713684 | 5.100 12.24
1-04 -12 fity i ] 7.860 |0.713684 | 5.610 13.47
1-05 -1 fie k. ] 6.730 [0.713684 | 4.800 11.53
1-06 -12 ik 7R [6] 8.670 |0.713684 | 6.190 14. 86
1-07 -12 fih K. [ 8.670 0.713684 | 6.190 14. 86
1-08 -12 fitg R A1) 9.100 |0.713684 | 6.490 15. 59
1-09 -1 fid ek 7] 9.100 |0.713684 | 6.490 15. 59
1-10 -12 it ek 18] 5.560 |0.713684 | 3.970 9. 53

1-11 -1 fifh ek 1] 6.690 |0.713684 | 4.770 11.46
1-12 -1B ik 1] 4.320 |0.713684 | 3.080 7. 40

1-13 -18 it ik ] 6.520 |0.713684 | 4.650 11. 17
1-14 -1 il ek 1] 6.480 |0.713684 | 4.620 11. 10
J=15 -12 fii e 6] 6.190 |0.713684 | 4.420 10. 61
1-16 -12 il ek ] 6.500 |0.713684 | 4.640 11. 14
1-17 -1B fig 78R ] 6.500 |0.713684 | 4.640 11.14
1-18 -12 fitg 78K 1) 6.200 |0.713684 | 4.420 10. 62
1-19 -12 il ek ] 9,100 [0.713684 | 6.490 15. 59
1-20 -12 it i [) 9.100 |0.713684 | 6.490 15. 59
1-21 -12 ik ek 1] 6.480 |0.713684 | 4.620 11. 10
1-22 -1)2 fidt el 1) 6.520 |0.713684 | 4.650 11.17
1-23 -12 ik L 1) 4.320 |0.713684 | 3.080 7. 40

1-24 -2 | ffieliE) 6.600 |0.713684 | 4.770 11.46
1-25 A< | gmE | s5.560 [0.713684 | 3.970 9. 53

1-26 1R fik oK ] 8.670 |0.713684 | 6.190 14. 86
1-27 ST {ids R 1) 8.670 0. 713684 6. 190 14. 86
1-28 1B fit 6.740 |0.713684 | 4.810 1.55
1-29 NIE fit B 7.860 |0.713684 | 5.610 13. 47
1-30 — 1 JR e i ) 8.520 [0.713684 | 6.080 14. 60
1-31 -1 il R 1] 7.290 [0.713684 | 5.200 12. 49
1-32 -12 il e 6] 7.140 [0.713684 | 5.100 12. 24
1-101 12 = 92.440 |0.277245 | 25.630 118.07
1-102 12 = 87.800 |0.277245 | 24.340 112. 14




2-101 1z FE 87.800 |0.277245 | 24.340 112. 14
2-102 12 Es 92.440 |0.277245 | 25.630 118. 07
NEO1 1-28 | xikiBzhes | 290.620 |0.052435 | 15.240 305. 86
1-201 2% B 92.440 [0.277245 | 25.630 118. 07
1-202 22 % 101.290 |0.277245 | 28.080 129. 37
2-201 22 fFe 101. 290 |0.277245 | 28.080 129. 37
2-202 22 ] 92.440 |0.277245 | 25.630 118. 07
1-301 32 Edect 92.440 [0.277245 | 25.630 118. 07
1-302 3z (Es 101.290 |0.277245 | 28.080 129. 37
2-301 3z ¥ 101.290 |0.277245 | 28.080 129. 37
2-302 3 Bt 92.440 [0.277245 | 25.630 118. 07
1-401 4)7 ¥ 92.440 [0.277245 | 25.630 118. 07
1-402 4)7= (£ 101.290 |0.277245 | 28.080 129. 37
2-401 47 ¥ 101.290 |0.277245 | 28.080 129. 37
2-402 42 B 92.440 |0.277245 | 25.630 118.07
1-501 52 G 92.440 |0.277245 | 25.630 118. 07
1-502 52 = 101.290 |0.277245 | 28.080 129. 37
2-501 5 5 101.290 |0.277245 | 28.080 129. 37
2-502 5f FE 92.440 |0.277245 | 25.630 118. 07
1-601 6/ FE 92.440 |0.277245 | 25.630 118. 07
1-602 62 = 101.290 |0.277245 | 28.080 129. 37
2-601 6/z g 101.290 |[0.277245 | 28.080 129. 37
2-602 6)z e 92.440 |0.277245 | 25.630 118. 07
1-701 (7= Gt 92.440 [0.277245 | 25.630 118. 07
1-702 1 % 101.290 |0.277245 | 28.080 129. 37
2-701 A %12/ s 101.290 |0.277245 | 28.080 129. 37
2-702 f, /4" 18 k% 92.440 [0.277245 | 25.630 118.07
1-801 In| <8 it 92. 440 |0.277245 | 25.630 118. 07
1-802 87 s 101.290 |0.277245 | 28.080 129. 37
2-801 8)Z A 101.290 |0.277245 | 28.080 129. 37
2-802 8/ = 92.440 |0.277245 | 25.630 118.07
1-901 ) it 92.440 |0.277245 | 25.630 118. 07
1-902 9Jz ¥ 101.290 |0.277245 | 28.080 129. 37
2-901 9z € 101.290 [0.277245 | 28.080 129. 37
2-902 9 i 92.440 |0.277245 | 25.630 118.07
1-1001 10/2 e 92.440 [0.277245 | 25.630 118. 07




1-1002 102 et 101.290 |0.277245 | 28.080 129. 37
2-1001 102 =2 101.290 |0.277245 | 28.080 129. 37
2-1002 102 Eet 92.440 |0.277245 | 25.630 118. 07
1-1101 112 ¥ 92.440 |0.277245 | 25.630 118. 07
1-1102 112 2 101.290 |0.277245 | 28.080 129. 37
2-1101 112 (Et 101.290 |0.277245 | 28.080 129. 37
2-1102 112 FE 92.440 [0.277245 | 25.630 118. 07
1-1201 122 ¥ 92.440 |0.277245 | 25.630 118.07
1-1202 12/% i 101.290 |0.277245 | 28.080 129. 37
2-1201 12)2 = 101.290 |0.277245 | 28.080 129. 37
2-1202 122 = 92.440 |0.277245 | 25.630 118.07
1-1301 132 T 92.440 ]0.277245 | 25.630 118. 07
1-1302 132 et 101.290 |[0.277245 | 28.080 129. 37
2-1301 13 T 101.290 |0.277245 | 28.080 129. 37
2-1302 132 e 92.440 |0.277245 | 25.630 118. 07
1-1401 14)7 s 92.440 |0.277245 | 25.630 118. 07
1-1402 142 fF 101.290 |0.277245 | 28.080 129. 37
2-1401 14/ F 101.290 |0.277245 | 28.080 129. 37
2-1402 14)Z = 92.440 [0.277245 | 25.630 118. 07
1-1501 152 = 92.440 |0.277245 | 25.630 118.07
1-1502 152 8 101.290 |0.277245 | 28.080 129. 37
2-1501 15/ i 101.290 |0.277245 | 28.080 129. 37
2-1502 15)2 (Gt 92.440 |0.277245 | 25.630 118. 07
1-1601 162 e 92.440 |0.277245 | 25.630 118.07
1*1/&62?_' ' 62 FE 101. 290 |0.277245 | 28.080 129. 37
2.#1-6'0;1 16)z s 101.290 |0.277245 | 28.080 129. 37
51602 16 ez | 92.440 [0.277245 | 25.630 118.07
1-1701 172 i 92.440 |0.277245 | 25.630 118. 07
147087 " T 17 f: 101.290 |0.277245 | 28.080 129. 37
2-1701™= {712 s 101.290 |0.277245 | 28.080 129, 37
2-1702 172 B 92.440 |0.277245 | 25.630 118. 07

&t 3 - 7380. 070 - 2211. 810 9591. 88
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55 [ P MR AL, B MR LA, AL Ll
FERNBBFEN | P E T AL ™ R A R 22 ]

5 FRiEER | BRME | BRER | 2MA% | I | BHER
2-01 -2 T HL ] 8.270 |0.693015 | 5.730 14. 00
2-02 -2 T HL ] 7.530 |0.693015 | 5.220 12.75
2-03 2B T A [A] 7.140 |0.693015 | 4.950 12. 09
2-04 2B T H ] 7.680 [0.693015 | 5.320 13.00
2-05 -2 T A 7.900 |0.693015 | 5.470 13.37
2-06 -2 T A[a] 8.670 |0.693015 | 6.010 14. 68
2-07 -2 T FL[a) 8.670 [0.693015 | 6.010 14. 68
2-08 )= T L J] 11.460 |0.693015 | 7.940 19. 40
2-09 -22 TR ] 13.250 |0.693015 | 9.180 22. 43
2-10 -2 T HL [ 9.100 |0.693015 | 6.310 15. 41
2-11 -2 T H.[a] 9.100 |0.693015 | 6.310 15. 41
2-12 2 T H ] 8.380 |0.693015 | 5.810 14. 19
2-13 -2 T A 8.800 |0.693015 | 6.100 14. 90
2-14 22 T H[a] 5.620 10.693015 | 3.890 9.51
2-15 -2 THL ] 6.750 |0.693015 | 4.680 11.43
2-16 -2 T AIm 4.450  [0.693015 | 3.080 7.53
2-17 2] N 6.480 |0.693015 | 4.490 10. 97
2-18 -2 T H ] 6.480 |0.693015 | 4.490 10. 97
2-19 -212 T[] 6.480 [0.693015 | 4.490 10. 97
2-20 w2 |- THm | 648 [0.693015 | 4.490 10.97
2-91 o Lo am | 4.350 [0.693015 | 3.010 7.6
222 1 ok | 1AM 6.710 ]0.693015 | 4.650 11. 36
2-23 | -22 TR f] 5.560 |0.693015 | 3.850 9. 41
2-24 2F T FL[] 8.700 |0.693015 | 6.030 14.73
9-25 QE.A4 THMH 8.280 [0.693015 | 5.740 14. 02
2-26 -2 T H ] 9.000 |0.693015 | 6.240 15. 24
2-27 2B T H ] 9.000 |0.693015 | 6.240 15. 24
2-28 -2 T EL ] 11.450 |0.693015 | 7.940 19. 39
2-29 -2 T E.[d] 7.140 [0.693015 | 4.950 12. 09
2-30 = T EL ] 7.530 0.693015 | 5.220 12.75
Vi 1 -2 T HI[q] 8. 270 0.693015 5. 730 14. 00




8-01 -2 B 23.240 [0.693015 | 16.110 39.35
8-02 -2 £ 19.160 |0.693015 | 13.280 32. 44
1-01 -1 T HLfa] 8.520 |0.693015 | 5.900 14. 42
1-02 -1B T jE] 7.290 |0.693015 | 5.050 12. 34
1-03 -1B T HL[8] 7.140 |0.693015 | 4.950 12.09
1-04 -1)2 T K] 7.860 |0.693015 | 5.450 13.31
1-05 -12 LA 6] 6.740 [0.693015 | 4.670 11.41
1-06 -1E T ELjd] 8.670 |0.693015 | 6.010 14. 68
1-07 -12 TR 6] 8.670 |0.693015 | 6.010 14. 68
1-08 -12 THq) 9.100 |0.693015 | 6.310 15. 41
1-09 -1 T E ] 9.100 |0.693015 | 6.310 15. 41
1-10 -12 T A a] 8.380 [0.693015 | 5.810 14. 19
1-11 -1)2 T HL (8] 8.800 |0.693015 | 6.100 14. 90
1-12 -1 T A8 5.560 |0.693015 | 3.850 9. 41

1-13 -1/& T A& 6.840 |0.693015 | 4.740 11.58
1-14 -2 TRIA 4.330 [0.693015 | 3.000 7.33

1-15 -1 T EL[a) 6.480 |0.693015 | 4.490 10. 97
1-16 -1B T H ] 6.480 |0.693015 | 4.490 10. 97
1-17 -1 T H[g] 6.480 |0.693015 | 4.490 10. 97
1-18 -1 T.HIA] 6.480 |0.693015 | 4.490 10. 97
1-19 -1 T H[a] 4.330 10.693015 | 3.000 7.33

1-20 -12 L FL[a] 6.840 [0.693015 [ 4.740 11.58
1-21 -1E TH[d] 5.560 |0.693015 | 3.850 9.41

1-22 -12 T L] 8.800 |0.693015 | 6.100 14. 90
1-23 B T ELja] 8.370 |0.693015 | 5.800 14.17
1-24 S\ 2B | THRE | 9.100 [0.693015 | 6.310 15. 41
1-25"!‘ -1 . TR 9.100 |0.693015 | 6.310 15. 41
1—25'-.'.'.‘7,‘ : -T2 Lo IRMA 8.670 |0.693015 | 6.010 14. 68
1—2%_‘;*”“ —-fE:; ‘t / LRI 8.670 |0.693015 | 6.010 14. 68
1-28 N\ 12 T H (] 6.740 |0.693015 | 4.670 11. 41
1-29 —TE T A A 7.860 |0.693015 | 5.450 13. 31
1-30 -12 T H [\ 8.520 [0.693015 | 5.900 14. 42
1-31 -1 AT 7.290 0.693015 | 5.050 12. 34
1-32 -1 T HIH] 7.140 10.693015 | 4.950 12. 09
1-102 1/Z € 88.460 |[0.280254 | 24.790 113.25
2-101 12 Tz 88.460 |0.280254 | 24.790 113. 25
2-102 12 = 92.690 |0.280254 | 25.980 118.67




~Etol 1)z Wkl | 41,070 |0.052548 | 2. 160 43. 23
A 02 12 CAEAS 54.900 [0.052548 | 2.880 57. 78
AE03 1B | mEE| 189.170 |0.052548 | 9. 940 199. 11
A4 1-22 B&E& 477.590 |0.084898 | 40.550 518. 14
AHR05 1-2/7 | Z=AAE Wit 206.200 |[0.052548 | 10.840 217. 04
1-202 22 ¥ 102. 020 |0.280254 | 28.590 130. 61
2-201 2= FE 102. 020 |0.280254 | 28.590 130. 61
2-202 22 s 92.690 |0.280254 | 25.980 118. 67
1-301 R) = i 92.690 [0.280254 | 25.980 118. 67
1-302 3z T 102. 020 |0.280254 | 28.590 130. 61
2-301 3z i 102. 020 |0. 280254 | 28.590 130. 61
2-302 Iz i 92.690 [0.280254 | 25.980 118. 67
1-401 4)3 = 92.690 |0.280254 | 25.980 118. 67
1-402 4)z % 102.020 |0.280254 | 28.590 130. 61
2-401 4z ¥ 102.020 |0.280254 | 28.590 130. 61
2-402 1)z s 92.690 [0.280254 | 25.980 118. 67
1-501 52 = 92.690 |0.280254 | 25.980 118. 67
1-502 5/ fFe 102. 020 |0.280254 | 28.590 130. 61
2-501 Sz £ 102. 020 |0.280254 | 28.590 130. 61
2-502 52 Eeet 92.690 |0.280254 | 25.980 118.67
1-601 6)= = 92.690 |[0.280254 | 25.980 118. 67
1-602 6/Z (G 102. 020 |0.280254 | 28.590 130. 61
2-601 = fEe 102.020 |0.280254 | 28.590 130. 61
2-602 6/ FE 92.690 [0.280254 | 25.980 118.67
1-701 = i 92.690 |[0.280254 | 25.980 118.67
1-702 (= E¢ 102.020 |0.280254 | 28.590 130. 61
2-701 0= FE 102. 020 |0.280254 | 28.590 130. 61
2702 A TBM s | 92.600 |0.280254 | 25.980 118. 67
1-801 /1 8 Tk N\E | 92.690 [0.280254 | 25.980 118. 67
1-go2f =] _die k= 102. 020 [0.280254 | 28.590 130. 61
2-801% S 8 )5 i€ 102.020 |0.280254 | 28.590 130. 61
2-802 \ W|izigg < |/ 92.690 |0.280254 | 25.980 118. 67
1-901 [0 £ | 92.690 [0.280254 | 25.980 118. 67
1-902 9 ¥ 102. 020 0. 280254 | 28.590 130. 61
2-901 9 (Ea 102. 020 |0.280254 | 28.590 130. 61
2-902 9J2 E 92.690 |0.280254 | 25.980 118. 67
1-1001 107 hc] 92.690 |0.280254 | 25.980 118. 67




1-1002 102 £ 102.020 [0.280254 | 28.590 130. 61
2-1001 10/ Bt 102. 020 |0.280254 | 28.590 130. 61
2-1002 10J2 e 92.690 |0.280254 | 25.980 118.67
1-1101 11z £ 92.690 [0.280254 | 25.980 118.67
1-1102 112 et 102.020 |0.280254 | 28.590 130. 61
2-1101 1)z £E 102.020 |0.280254 | 28.590 130. 61
2-1102 112 £ 92.690 |0.280254 | 25.980 118. 67
1-1201 122 s 92.690 |0.280254 | 25.980 118. 67
1-1202 12)7 (it 102. 020 |0.280254 | 28.590 130. 61
2-1201 12/ 8 102.020 |[0.280254 | 28.590 130. 61
2-1202 122 £ 92.690 [0.280254 | 25.980 118. 67
1-1301 13)Z £ 92.690 |0.280254 | 25.980 118. 67
1-1302 137 = 102. 020 |0. 280254 | 28.590 130. 61
2-1301 13z FE 102.020 |0.280254 | 28.590 130. 61
2-1302 132 i 92.690 [0.280254 | 25.980 118. 67
1-1401 14)7 FE 92.690 |0.280254 | 25.980 118. 67
1-1402 14)Z £ 102.020 [0.280254 | 28.590 130. 61
2-1401 147 £ 102.020 |0.280254 | 28.590 130. 61
2-1402 14)7 g 92.690 |0.280254 | 25.980 118. 67
1-1501 152 e 92.690 |0.280254 | 25.980 118. 67
1-1502 15)z s 102.020 |0.280254 | 28.590 130. 61
2-1501 15/ Bt 102.020 |0.280254 | 28.590 130. 61
2-1502 15)7 £ 92.690 |0.280254 | 25.980 118. 67
1-1601 16)z £ 92.690 |0.280254 | 25.980 118. 67
1-1602 P 102.020 |0.280254 | 28.590 130. 61
2-1601 i T 102.020 |0.280254 | 28.590 130. 61
2-1602 16/Z A EE 92.690 |0.280254 | 25.980 118.67
1-1701 | e 17EBK| A& 92.690 |0.280254 | 25.980 118. 67
1-1702 VER LA [ S 102.020 |0.280254 | 28.590 130. 61
2-1701 “JTE A 102.020 |0.280254 | 28.590 130. 61
2-1702 172 s 92.690 |0.280254 | 25.980 118.67
it 7 = 7903. 560 - 2227.420 | 10130. 98
M2z : ¥l YI: fR L i it




